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c(table(d))

Y JODOMETETIVL] EEX LD

> load("dice.RData")

> length(d) @ -3
[1] 1600 /0 - o

> table(d) 0
d

i 2 3 4 5 6 \’ 4
191 155 159 181 151 163 ‘
> plot(1:6, c(table(d)), ylim = c(0, 300))
> abline(h = 1000 / 6, col = "#ff400080", 1lwd = 3)

f e — /3

250

Jle e e0eEYr 305
o] 1000/6 = 166.66...7
: 2 3. 4 5 6
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Categorical Distribution / - ®

AT AILDTE -
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p(Y =Kk)=pr < _.*°
pr =1
;; k

ke{1,2,3,4,5,6}

75—
- Py Py . Ps  ppmvroosor
1P Py Dgrovoss - 166.66...7

250

c(table(d))
150

0 50

\ \ \ \ \ \
1 2 3 4 5 6
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> table(d)
d

1 2 3 4 5 6
191 155 159 181 151 163

i pEF— 15
s ] 22 P3 . 135 ~1000[Er IO DT
h Py Pgrooose - 166.66...2
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> table(d)
d

1 2 3 4 5 6
191 155 159 181 151 163
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(O JODHETETIL] [CTEBCE
ALERE -=

D
> v.prob <- table(d) / 1000 /0 -« o
> replicate(8, table(sample(1:6, 1000, ®
+ replace = TRUE, prob = v.prob))) \\. o

11 [,21 [,3] [,4] [,5] [,6]1 [,7] [,8]
185 201 174 202 179 193 198 197
156 159 158 164 160 141 154 151 @
173 161 195 180 177 153 147 173
176 171 173 177 189 174 200 190

147 157 152 139 138 171 122 130
163 151 148 138 157 168 179 159

OO0 WNRE
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000000000000000
Y JOOKETET IV (CTESCL

N
gl -=.
> # Y430 1000 E31)%E 1000 @3 /' « 0
> siml000 <- replicate(1000, \ )
+ table(sample(1:6, 1000, replace = TRUE, o
+ prob = v.prob)))
>#5 KDE 6 "B THEHIT?
> sum(sim1000[5,] > simle00[6, ]) @
[1] 247

># 3 KDE 4 NBLTRHEEMIT?

> sum(siml1l000[3,] > sim1000[4,])

[1] 111

>#5 K1) 6 ABLEEIC,3 £DE 4 NS TROEHEIE?
> sum((sim1000[5,] > sim10E0[6,])

+ * (sim1000[3,] > sim1000[4,]))

11 35
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M JODMHETETIV] [ETEB L
INSA—=F—DEE

Ak OBESHEER
b, = ———7—

1000
> table(d)
d

1 2 3 4 5 6
191 155 159 181 151 163

pHF—5

P, Py . D5 |owmvraoson
1 s Pgrovoss = 166.66...7

My JOOHEETIV] (CTEBC L
TR <3
> # Y400 1000 E510%E 1000 EP3 /'/:\

> sim1000 <- replicate(1000, J\ (] L
+ table(sample(1:6, 1000, replace = TRUE, \0 o/
+ prob = v.prob)))

># 5 &UB 6 NS THEMIL?

> sum(sim1000(5,] > sim1600[6,]) @
[1] 247

> # 3 &UB 4 HETIEMIE?

> sum(sim1000(3,] > sim1600[4,])

[1] 111

(http: //‘go . g/7604i)

TR A T IEY)

oooooooono

M JODHETETIV] (ETEB L
ELEHE

> v.prob <- table(d) / 1000 ‘

> replicate(8, table(sample(1:6, 16000, ®

+ replace = TRUE, prob = v.prob))) Y]
N

11 [,2] [,3] [,4]1 [,5] [,6] [,7] [,8]
185 201 174 202 179 193 198 197
156 159 158 164 160 141 154 151 @
173 161 195 180 177 153 147 173
176 171 173 177 189 174 200 190
147 157 152 139 138 171 122 130
163 151 148 138 157 168 179 159

SR wWN R

M+ JODHEETIL ICTEB L
ETILEIRCIRTE SN

MR | %
EFIER =5 | O
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EFI: p AT ARTHELWY

EFALpHFINTRES  rzan ) omu
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00 i 000 y
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i€{1,2,3,---,50} {vi} ={v1, 92, s ys0}
r

00000 {y} 0000 ROODODODODOOODOODO

goooooooooooog
> data

[1] 2246452312043333427243334
[26] 3 753176465247226245451323
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> table(data)
0 1 2 3 4 5 6 7
1 311 12 10 5 4 4

(000 50 500000060400 ... )

kubo (http://goo.gl/76c4i) jooooooooo (1) 2016-01-20 27 / 112


http://goo.gl/76c4i

OO00o0dboooboooboddondn

> hist(data, breaks = seq(-0.5, 9.5, 1))
Histogram of data

Frequency
te e

2
|

T

0
|

gooogoboooooboobod
ogoo 0o oo

[
0

|
4

data
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> mean(data)

[1] 3.56
> abline(v = mean(data), col = "red")
Histogram of data
g_ S
o _| ] —
—
3 ®
c
(<3}
5 O
o
g I
L <t —
N !_l(
o
| 1 | I |
0 2 4 6 8
data
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> var(data)

[1] 2.9861

000000 00000ooOo0oo (SD = vvariance)

> sd(data) Histogram of data

ooooooo
[1] 1.7280 oooooo: 0

goood
goboodoo.-oooooo

|

10 12

|

8
1

> sqrt(var(data))
(1] 1.7280

Frequency
i

4
1

2
|

0
L

data
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M JODMEHETIVI (CTEBC L
INSX—=5—DHEE

> table(d)

d

1

2

p, =

3 4 5

6

191 155 159 181 151 163

cftable(d))
05 150 250

P, p; . P;

k OEMNHIZEIE

1000

RRF—5

| 1000EITr IO D/

P, Dy Dirocess - 166.66...2
N
0D0OOO0O0O0oo (1) 2016-01-20
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Histogram of data

8 10 12

Frequency

0 2 4 6

0 2 4 6 8
data

o0 b0 o obbd
U0 ooood

s ‘Ub00b00ObObOO”bObLObOOb
‘O0b0”"bU0bOobOobOoboboo
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> data.table <- table(factor(data, levels =
> cbind(y = data.table, prob = data.table / 50)
prob

0.20

prob
0.10

O.PO

0oO0oOooOoooo (1)

y
1

3
11
12
10

© 0 N O O W N O
O O O b b O

[ure
o

2016-01-20

0:

0.
.06
.22
.24
.20
.10
.08
.08
.00
.00
.00

O O O O O O O O O o

10))

02
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AVexp(—A)

ply | A) = )

eyl yOOOOODODODOD 40 1x2x3x40000000000
e exp(—-A)=e 000 (e=2718--+)

e JUDOOODODOOOOODDOODLOODLDDOODLOOODLDOO
ubooo—o0oooboboobooboobbooooonboo
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DO00DO0D0DOoDoOoooooog?
00000 RODODOOOO

>y <= 0:9 # 000000 @ooo)
> prob <- dpois(y, lambda = 3.56) # 00 00O0O0OOOOODOO
> plot(y, prob, type = "b", lty = 2) > # cbind 000000
° - > cbind(y, prob)

S e 00 (A O|356000 y prob

9 : *. Poisson disfribution 1 0 0.02843882

P ° 2 1 0.10124222

e I . 3 2 0.18021114

8 o 4 3 0.21385056

°l o 5 4 0.19032700

i ! T T I ! . 6 5 0.13551282

y 7 6 0.08040427

8 7 0.04089132

9 8 0.01819664

10 9 0.00719778
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O\

8 10 12

o

Frequency
e

2
|

’
;
o

0
|

Histogram of data

> hist(data, seq(-0.5, 8.5, 0.5))

# 0J00oo0ooooooboo

> lines(y, prob, type = "b", 1ty = 2) # OO00OO0O0OOOODOO
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> # cbind DOODOO0O
> cbind(y, prob)

prob
.02843882
.10124222
.18021114
.21385056
.19032700
.13551282
.08040427
.04089132
.01819664
.00719778

prob
0.00 0.05 0.10 0.15 0.20
~<

00 A0D00O0D0DO00000C0O0O0000
00000000 AD00O0M> 00
000000000: A=00 =00
ye{0,1,2, -,00} 0000000000 yO000000000 10

oad
dopy N =1
y=0
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Nexp(—A
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y!
8 lambda
o] 3.5
7.7
Q_ =151
o
o
[e =]
S_F!— -
o = [
=
8] . .
o - =
o a®
©C ] afdagmmn” 44000
(= I I I I
0 5 10 15 20

y
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000
00 (likelihood) DO OO?

ooo
gbboooboooooobooobbooobooobbooooan

oo

gbooobooboobbooboobbod

ooooooooooboooo Abbbboboboobooog

oooooooooooooooo Abobooo

00000000000 30000000000
{y1, v, y3} = {2, 2, 4})000000000000000000
0.180 x 0.180 x 0.19 = 0.006156 00000000
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L)) = (pO200000)x (0 200000)
x---x (ysod 300000)

plyr | A) xply2 | A) xp(ys | A) x - < p(yso | A)
Vi exp(—
= TIotw 1= [0

i
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O0000 (oo ooD)0oboooo0ooooooD (Doo
oool)

O000000000000000000000000 (log likelihood
function) 00 O

Yi
log L(\) = Z (y@ log A — X — Zlogk)
k

2

0000 logL(\) 0000000 L(A\)OOODODO0O0O00DO
00000000000000000 AD000D0000000000
00000000000000000000000000000000
000
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AD00000000O00O0O0000O0

B lambda = 2.0 8 lanbda = 2.4 8 lambda = 2.8
log L = -121.9 log L = -109.4 log L = -102.0
R ER R
- w— w-
o o o
T T T T 1 T T T T 1 T T T T 1
0 2 4 6 8 0 2 4 6 8 0 2 4 6 8
89 lanbda = 3.2 ER lanbda = 3.6 B lambda = 4.0
log L = -98.2 log L = -97.3 log L = -98.5
=R ER =R
- w— -
o o o
T T T T 1 T T T T 1 T T T T 1
0 2 4 6 8 0 2 4 6 8 0 2 4 6 8
8 lambda = 4.4 8 lanbda = 4.8 8 lambda = 5.2
log L = -101.5 log L = -106.0 log L = -111.8
R R e
w0 ] w0
o o o
T T T T 1 T T T T 1 T T T T 1
0 2 4 6 8 0 2 4 6 8 0 2 4 6 8
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gooo0oO0oOoO0OoooOoOoOoO0 o oo goooooooooooo?

A

OO000000oooo AxO0000

0000 logL(A) =3, (yilogh — X = > ¥ logk)

log likelihood
-110

-1|20

2?0 2!5 3!0 3!5 4!0 4!5 5!0
- 00000 (ML estimator): >, v;/50  coooo!
. 00000 (ML estimate): A =3.56 00 O
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Odboodbodoodboodgod......

e JODOODDOODOODDOODDOODDOO

e JUD0O DODODOOLOOUDODO DUODODODLODODLDODODOD
gooooooooo

e JO0IO0OOOUDDOODO GLMMDOOOODOOODO

The development of Llinear models
parameter
estimation

Hierarchical Bayesian Model MCMC

Be more Generalized Linear Mixed
flexibte Model (GLMM)

MLE
Incoporating . g

vandon offootd /& Generalized Linear
such as individuality' Model (GLM)

Always normal MSE
distribution?
That's non-sense! Linear model
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OO00ooooooooooa?

0o0o0ooooo (GLM)
000000 (Poisson regression)
000000000 (logistic

regression)

. 0000 (linear regression)
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11. oo gogouobooada
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00000000000000000000000?
000000000000 000000 0O

e D0UD: OO0 {y}
e O0OOO:

e 0OUDO {z}

e OOOO {fi}

EREERN
e 00O (f;=C): 50 sample (i € {1,2,---50})
e JOOO (fi=T): 50 sample (i € {51,52,---100})
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OO00odboododdn

@ ugbooon

data3a.csv 0 CSV (comma data frame d 0 0 O
separated value) format file 0 0 0O O -
ROODODOOOODOOOOOOO:
y x f

1 6 8.31 C

2 6 9.44 C
> d <- read.csv("data3a.csv")

3 6 9.50 C
000040000000 data --0oaa...
frame (00 0O0000) 0000 99 7 10.86
00 100 9 9.97
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EOEREaNOE0E0E0nEnEann0?
data frame d 00 0O 0: d$x, dSy

> d$x
[1] 8.31 9.44 9.50 9.07 10.16 8.32 10.61 10.06
[9] 9.93 10.43 10.36 10.15 10.92 8.85 9.42 11.11
...0ooo...
[97] 8.52 10.24 10.86 9.97

> d$y
[1] 6 6 61210 4 9 9 911 610 6 10 11 8
[17] 3 8 5 5 411 510 6 6 7 9 310 2 9
...0ooo...
(971 6 8 7 9
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OO0ooO0OO0O000: oo00000O0o0ooaO0 00o0oOo0o0o0oO0oooooOoooooooon?

data frame d 0 000 : d$f — factor type!

goboooboooboo fto0o0bboobboon

> d$f
[t cccccccecccecceccececcecceccececceccecceccecceccecceccc
[26 CCCCCCCCccccccececcecececceccecceccecceccc
B1] TTTTTTTTTTTTTTTTTTTTTTTTT
[76] TTTTTTTTTTTTTTTTTTTTTTTTT
Levels: C T

gboobdb:-0boboboooooob
oboobocoTthO 200
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ROODOOODOOOOOOO

> class(d) # d 0 data.frame OO0O

[1] "data.frame"

> class(d$y) # y UUODOUODODOO integer OO O

[1] "integer"

> class(@$x) # x JO0OOOO0OO0ODO numeric OO0O
[1] "numeric"

> class(d$f) # OO0 f OO factor OO

[1] "factor"
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OO0ooO0OO0O000: oo00000O0o0ooaO0 00o0ooO0o0o0o0oO0ooo0ooooooooon?

data frame 0 summary ()

> summary(d)

Min.

1st Qu.:

Median :

Mean

y

3rd Qu.

Max.

~N 00 o N

.00
.00
.00
.83
:10.
:15.

00
00

Min.

1st Qu.:

Median

Mean

3rd Qu.

Max.

kubo (http://goo.gl/76c4i)

7.
9.
:10.
:10.
:10.
:12.

190
428
155
089
685
400

C:50
T:50

0oO0DOoDoOoooo (1)
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Oo0oooooooooag!

> plot(d$x, d$y, pch = c(21, 19) [d$£f])
> legend("topleft", legend = c("C", "T"), pch = c(21, 19))

0
3H° ¢ .
e T 0 .
N4 o .
o e o e
S oo e o wom
2 . e emosom o .
T o0 o e o @0 e e 00
o e ee e
© —| oe eocm e ®om o e .
° © e cee
< - o ©o .
o .
o~ o
I I I I
7 9 10 11 12
dsx
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Oo0dd £ 0000000

> plot(d$f, ds$y)
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.
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GLM OOO0OO0O0000O gO0oooO0oOoOoOoOooooooo

12. GLMOOOOOOOO

gobbboooobbboooon

00000000 leglinkOOOOOOCOOO
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N LR - coooonoonoonne
OO00odboogdodd

00000000 (GLM)
.O000ono?
.O000noono?
.O000noono?
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GLM OOO0OO0O0000O gO0oooO0oOoOoOoOooooooo

GLM OO0OODODODOO0O0ODODODOO0OOoOoOooobOoOOoo

Jo0o0oodgogdnn

.0000: 000000 « -
00000 eg., B+ Pax; : Ooﬁ"';“qg”{i ‘.
.00000: 0000000
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GLM OOO0OO0O0000O gO0oooO0oOoOoOoOooooooo

GLM OO0O0O0ODODO0OO0O0OOoDObOOoOoOooooo

Jdooooogdo
cUO0O0O: oo .

.00000: eg, Bi+ Boty b
.00000: 0000000
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GLM OOO0OO0O0000O gO0oooO0oOoOoOoOooooooo

GLM 0000000 legistic DO OOOOOOO

Joooooooooonbon
.00 goon
oDDDDDZG.g.,Bl—FBQQTi

T T
8 9 10 1 12

.O00000: logit OODOOO Do00o00d a
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OO0 <« Odgd (DD?)DDDDDDDDDDD

«00:0000
e00:0000
e 00000 (linear predictor):
(0000000)= 00 (00)
+ (00 1)x(OOO00 1)
+ (00 2)x (0000 2)
+ (0O 3)x (0000 3)
n
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ROODOOODOOOOO

ooo0o ooon GLM OO0O0O
(D0) ODOUOODOOO0OO  rbinom()  glm(family = binomial)
oood rbinom() glm(family = binomial)
oooooo rpois() glm(family = poisson)
gooood rnbinom() glm.nb() in library(MASS)
(0D0) ODOoooo rgamma()  glm(family = gamma)
oood rnorm() glm(family = gaussian)

e sIm() O0D0DOOCOCODOODOOOOOOO

e GLMUOOOODOUOODOOOOODOOODODOODODODUDOOOOODODOOODOO
gobooooooboooooobooo

e NO0OODODODODODO OOOO GLMOODODODOODO
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OO00o0d0boooboododd

] .- . .|ooowoooanDODODOODOOOOOOD
soan . ooooo

«]° m - '.,a'.':b o )\y2 exp —)\‘

N . . p(yz' ‘ )\i):li(z)

7 8 9 10 11 12 yz ‘
ds$x

00000 vOOOODoOoOoOoooooooooo...... ?
Ai = exp(B1 + Bax;)
«40 4000 (000000)
ey, 00 0000DODOf00000000

kubo (http://goo.gl/76c4i) jooooooooo (1) 2016-01-20 71 /112


http://goo.gl/76c4i

Oo0Oooooooooo?

i = exp(B1 + fax;)

\ (61,52} S|
= (2,08} © = {-1,04}

\

od g N\

0.0 0.5 1.0 1.5 2.0 2.5

-4 2 0 2 4
o0 00000 x
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GLM OOO0OO0OO0OO0OOO0OOO0ooo

00000 N

Ai = exp(B1 + Bo;)
()

1Og< > 61 + 52w2
lg(00)=00000

logOODDOOOOODOOODODOODOODOODOODODOO
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O00odboodobododnd

oo googgd Ny
.0000: 000000 o
.00000: B + Box; A4
.00000:000o00o00 4
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RO GLMOOOOOOOOOO gO0OooOoOO0OO0OO0O0OoOoOO0O0O00Ooon

8. RO GLMUOUOODOOOOOOO

gobbbogobobboooobooo

gobooboooobooboboooon
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glm() 0OOOO

> d

y x £
1 6 8.31 C
2 6 9.44 C
3 6 9.50 C
..good...
99 7 10.86 T
100 9 9.97

oooo!
> fit <- glm(y ~ x, data = d, family = poisson)
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RO GLMOOOOOOOOOO gO0OooOoOO0OO0OO0O0OoOoOO0O0O00Ooon

glm() 0ODOOOOOO
HEREBMT 2L TV b

e BRSO
fit <={glm(
"V ~ xp€—ETILR J
family =(poissonf(link = "log"),
data = d

. ) v BEBDIEE
) data.frame DIEE (BIE)

e J0UD (DOOUDO 2):00D000CDODODO?
e link U0: 00000 (y) DODO DODODO?
e family: JODOOOODOOODO?Y
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glm() 0O0OODOOO0OO

e family: poisson, 0 U U0 BENHRAT Y VD%
HRN = °
7z o, . "
e link O UJ: "log" E L'nikﬁalfﬁ
e 000D (DDODODODO 2): O o/
gbdy ~x0O00000 .- A
g

c 00000 z=8 + oz
4,5 000000000000

o 000000000 ADDOO log\) =2
000 X=exp(z) = exp(f1 + faz)

o 0000 000 NODOODODOOOOODO: y~ Pois(A)
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glm() 0OOOO

> fit <- glm(y ~ x, data = d, family = poisson)

all: glm(formula =y ~ x, family = poisson, data = d)

Coefficients:
(Intercept) X
1.2917 0.0757

Degrees of Freedom: 99 Total (i.e. Null); 98 Residual
Null Deviance:""I 89.5
Residual Deviance: 85 "“"IAIC: 475
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glm() 0O0OODOOO0OO

> summary (fit)
Call:

glm(formula = y ~ x, family = poisson, data = d)

Deviance Residuals:
Min 1Q Median 3Q Max
-2.368 -0.735 -0.177 0.699 2.376

Coefficients:

Estimate Std. Error z value Pr(>|zl|)
(Intercept) 1.2917 0.3637 3.55 0.00038
X 0.0757 0.0356 2.13 0.03358

...... @oooo) ..
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Odoogdodg

Po (Estimate 0.0757, SE 0.0356)

(Estimate 1.29, SE 0.364)
A

0.0 0.5 1.0 1.5

ooobi:

.00 p0 0000000 O0DO0OOOOO
.p00000000 000 0000000000
.p0 0500000 D00 000000
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0000

> fit <- glm(y ~ x, data = d, family = poisson)

Coefficients:
(Intercept) X
1.2917 0.0757

> plot(d$x, d$y, pch = c(21, 19) [d$f]) # data
> xp <- seq(min(d$x), max(d$x), length = 106

> lines(xp, exp(1.2917 + 0.0757 * xp))

gbooboboooboobod
gooobooooobod

T
7 8 9 10 11
d$x
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O0oo0o00o000O0O0O0 DooooOooooooao GLM OO0OO00O0000

9. buuoouobbbu buooobbbuooda

GLMOODOOOOO

o0 +000 00DbhOo0obooon
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OO0000 f; 0000000

4 .- . .|0D0Dyo0ONDOODODODOOODOOO O
soan . 0oooo

DT e
1 plyi | 2) = =— 2=
7 8 9 d$i0 1 12 yl'

OO0 000 ;OOOOoOOooo
Ai = exp(f1 + Baxi + Bad;)
e OO DOOODODO O OO
e ;000000

g4 0 (i=chnn)
"1 (i=TDOD)

kubo (http://goo.gl/76c4i) jooooooooo (1) 2016-01-20 84 / 112


http://goo.gl/76c4i

__0oooooo0000 000000000000 IRUEEEEEEEE
glm(y ~x + £, ...) 0OOO

> summary(glm(y ~ x + f, data = d, family = poisson))

R G
Coefficients:

Estimate Std. Error z value Pr(>|zl|)
(Intercept) 1.2631 0.3696 3.42 0.00063
X 0.0801 0.0370 2.16 0.03062
fT -0.0320 0.0744 -0.43 0.66703
...... (oooog) ...

kubo (http://goo.gl/76c4i) jooooooooo (1) 2016-01-20 85 / 112


http://goo.gl/76c4i

x + £ 000000

> plot(d$x, d$y, pch = c(21, 19)[d$f]) # data

> xp <- seq(min(d$x), max(d$x), length = 100)

> lines(xp, exp(1.2631 + 0.0801 * xp), col = "blue", lwd = 3) # C

> lines(xp, exp(1.2631 + 0.0801 * xp - 0.032), col = "red", lwd = 3) # T

S .
. .
ﬁ_ ) . ]
o e o e e
S
&
T co—
o -
< -
o ) .
o~ — °
T T T T I
7 8 9 10 11 12
dsx
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O000000000000000000
e fi=C: )\ =exp(1.26 + 0.0801z;)

o fi=T: A = exp(1.26 +0.0801z; — 0.032)
= exp(1.26 + 0.0801x;) x exp(—0.032)

i 0000000 exp(—0.032) O
<
52 Ooooooooooal
O
|
i
o |ooo
N 0000
T T T T
5 10 15 20
ooogd a;
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OO00Oo00bodobooboodobododndn

(A)0oooooo (B)ooooooo
A= exp(BL+ oz +---) A=Bi+Bar -
<,.| 00O .| 0OO
|:|H —
|
DO o
0= —
- gono goo
|00 oo
T T T T T T T T
5 10 15 20 5 10 15 20
ooogd z; ooog z;
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O0oo0o00o000O0O0O0 DooooOooooooao GLM OO0OO00O0000

GLM: 0000000 DODOOoOooooo

0o0o0O0o0ooooDooooooooog O000O0OO0lgOOOOOOOOOOO
o o o ,io
©— o ©— o/
o o o Jo
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> /oo" o = og7d o
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Qe”l oo o [ele) 00.-0
e Segeet % T 1 © =) =60 T 1
- 5 1.0 1.5 2.0 05 1.0 15 2.0
o] T o T
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O0oo0o00o000O0O0O0 DooooOooooooao GLM OO0OO00O0000

goodboodbotobootdbooun

BEETILORE

EEESE

= e MCMC
‘BD&EEE&
HHETUY .

7 —RILIRTZRE S :E( )L

%] BT Ui
) BRmEE
BRZ= - 5=
EVWSEEYR

EODNEL —RILRRFETIL
(GLM)
Bﬁﬁﬁu%& R/NZFIE
RN EHD —s
UL BEETIL

goooooooogoobooooooboooobgoon
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“NOOOO k000000 0000000 gOooooooooooo

10. “NODOOO f000O0DODO”O0O0OOOOO

gobboboooobooo

ooooobooobobooonbooo
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“NOOOO k000000 0000000 gOooooooooooo

OO: doodoouodn

e UUDOOOODLOOODLOOOODO
e U0:0000DOO0ODOOO

e JO0ODOODO 80 OOOO
ooo

[ ]
©)
oo ¢ oo

e JODOO:00DOODDOO
oon

e JODO: 00 2000000 16000000000000OO0
e 300000D0L0 —DhOUODLODODLODODLODOD
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“NOOOO k000000 0000000 gOooooooooooo

oot otdoogbogn

gogoooond o012 345 6 7 8
googoooot 12136 6 100

T T T 1

0 2 4 6 8
ugbooboooog v
gobobooobooobooon
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datada.csv 00 CSV (comma separated value) format file OO OR O
ggoooobooooboood:

> d <- read.csv("datada.csv")

or

> d <- read.csv(
+ "http://hosho.ees.hokudai.ac.jp/ kubo/stat/2014/Fig/binomial/datada.csv")

D000 d0000000 data frame (0 O0OO000O)
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data frame d OO 0O

> summary(d)

N y
Min. :8 Min.
1st Qu.:8 1st Qu.:
Median :8 Median :
Mean :8 Mean
3rd Qu.:8 3rd Qu.:
Max. :8 Max.

kubo (http://goo.gl/76c4i)

Q0 0 O O W O

.00
.00
.00
.08
.00
.00

Min.

1st Qu.:
Median :

Mean

3rd Qu.

Max.

© © O N

0oO0DOoDoOoooo (1)

.660
.338
.965
.967
:10.
:12.

770
440

»8}

C:50
T:50
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> plot(d$x, d$y, pch = c(21, 19)[d$£f])
> legend("topleft", legend = c("C", "T"), pch = c(21, 19))
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00000000 (2: 000000e.g. 2 = f1 + Poxs)
1

; = logistic(z;) = ——~
o = o) = )
> logistic <- function(z) 1 / (1 + exp(-2)) # 0O OO0
> z <- seq(-6, 6, 0.1)
> plot(z, logistic(z), type = "1")

_ 1
4= T+exp(+2)
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4 2
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odaaaa>
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logit link function

o logistic O [
1

1+ exp(—(p1 + Pax))

q= = logistic(f81 + Pax)

o logit 0O

logit(g) = log 7 z e B1 + Box

logit [0 logistic 0 O O O O logistic O logit 0 O OO

logit is the inverse function of logistic function, vice versa
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ROOODDOODOOOO —B, 0 300000

(A) 000000000 f=c0 (B)OODOOOOO

0] O 00 00® O o
® ® O
©— 00 @ ©o-| \
o am o \
> < o o j <~
o ® ® \ \
= o = \ \
o o @o
< @0 T T T < T T T T T
7 8 9 10 1 12 7 8 9 10 11 12
X X

> glm(cbind(y, N - y) ~ x + f, data = d, family = binomial)

Coefficients:
(Intercept) X fT
-19.536 1.952 2.022
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